
Math 16B Printed Name
Final Exam

Signature

(.r.T)

ID Number

_________________________

Please Show All Your Work, and Mark Your Answers Clearly.

No Calculators — No Scratch Paper — No Cell Phones

There are 8 pages of problems. (#17 and #19 are for extra credit)

You are expected to do your own work, and to
adhere to the UCD Code of Academic Conduct.

Simplify all numerical answers, except in #2.

Give units in your answers to #6. #15. and #[6.

Please indicate clearly if you continue work on the back of a page.

Please stop working immediately when time is called.
(You are subject to a deduction from your test score if you do not.)

Have a Good Break!
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